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# coding: Windows-31J

x=3
y=5
if x >=y then

print(x,"[&",y," LETT¥n")

else

print(y, " [£", x," LLETT¥n")

end

Z:¥Ruby>ruby sample1.rb
513 LLETY

REMED

# coding: Windows-31J
x=10

x=gets.chomp.to_i
I=2.0 * x * Math::PI
s =x* x* Math::PI

print( " 5#?% " X, " (DF':JE]['J:" , | , " —Cﬁ*ﬁli " .S, n—G?—¥nn )

Z:¥Ruby>ruby sample1.rb
20

H£% 20 DM EIE125.66370614359172 THEHEIE 1256.6370614359173TY

REMEQ

x = gets.chomp.to_i
y = gets.chomp.to_i

# coding: Windows-31J

y," LLETI¥n")

X, " Ll ETI¥n")

if x >=y then
print(x," & ",
else
print(y," (&",
end

Z:¥Ruby>ruby sample1.rb

45 (£ 23 LLETY

REMEQ

REME®

# coding: Windows-31J
print( "HOFEIE?")

x=gets.chomp.to_i
I=2.0 * x * Math::PI
s =x * x * Math::PI

print( " #& ", x,"OAAE",|," TEEIX",s,"TT¥")

Z:¥Ruby>ruby sample1.rb
ADOFEF 210

#1210 MMJEI362.83185307179586 THEH#EIE 314.1592653589793 T

# coding: Windows-31J
print( " €£Z8?>")

x = gets.chomp.to_i
print( " FF?>")

r = gets.chomp.to_i
print( " &£?>")

n = gets.chomp.to_i

Z:¥Ruby>ruby sample.rb
£%g7 > 10000

FH?>5
F£7>5
12762H

y=xto f*(1.0+r.to_f/100.0)* n.to_f

print( y.to_i , "A")
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# coding: Windows-31J
x = rand(10)

y =rand(10)

ope = rand(4)

if ope == 0 then
print(x,"+",y,"=¥n")
print(">")
ans=x+y

end

if ope == 1 then
print(x,"-",y,"=¥n")
print(">")
ans =x-y

end

if ope == 2 then
print(x,"*",y,"=¥n")
print(">")
ans=x*y

end

if ope == 3 then
print(x,"/",y,"=¥n")
print(">"
ans=x/y

end

input = gets.chomp.to_i
if ans == input then
print( "IEf#¥n" )
else
print( "FIEf#¥n" )
end

REMEG

JBERAT &M (if-elsif-else) EALV-I5E

# coding: Windows-31J
x = rand(10)

y = rand(10)

ope = rand(4)

if ope == 0 then
print(x,"+",y,"=¥n")
print( " >"
ans =x+y

elsif ope == 1 then
print(x,"-",y,"=¥n")
print(">"
ans =x-y

elsif ope == 2 then
print(x,"*",y,"=¥n")
print(">"
ans=x*y

elsif ope == 3 then
print( x , Ly, "=¥n")
print(">")
ans=x/y

end

input = gets.chomp.to_i
if ans == input then
print( "IEf&¥n" )
else
print( "FIEfZ¥n" )
end




